[RBRPIMERE  $255 1989

WINTER PT ( 0 METER)
120E 150E 180 150W 120NW SONW

//_/_/_“3
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i C
120E  150E 180 1500 - 120W 90MW
CONTQUR INTERVAL = 1.0 C

M 1.1.1 AFBIZBITARTF VY » VKEBKESS (HHE)

WINTER PT ( 20 METER)
120E 1S0E 180 150KW 120NW 90K

1S0E 180 150W  120W  9OW
CONTOUR INTERVAL = 1.0 C

H1.1.2 &FIIBIFHEF VT ¥ WKEBEKESH (20m)



SRWEFBMRE %255 1989

WINTER PT ( 50 METER)
120E 150E 180 150NW 1200 SOW

60N

30N

1206 150 180 1504  120W 90N
CONTBUR INTERVAL = 1.0 C

K 1.1.3 &FIBITAHET VT v VKEKEST (G50m)

WINTER PT ( 75 METER)
120K 150E 180 150W 120W 90NW

TUS0W 1206 90M
CONTOUR INTERVAL = 1.0 C

150E  1S0E 180
F1.1.4 £FZBIIDLEFYY % VAEBEKESA (75m)



KEWMEFHHEE $255 1989

WINTER PT ( 100 METER)
120E 1S0E 180 150K 120K 90HW

T120E 1S0E | 180 1SOW 1200 90W
CONTOUR INTERVAL = 1.0 C

M 1.1.5 ZFBIBIFHHEF YT v VABKESA (100m)

WINTER  PT ( 150 METER)
120€E 150E 180 - 1S0KW 120W 90K

60N

" 120€ 150E 18 150W 120K 90W
CONTOUR INTERVAL = 1.0 C

K 1.1.6 &FIIBIIHETF v VKEKFESHE (150m)



SEFEHBAMRE  B255 1989

WINTER PT ( 200 METER)

120E 150E 180 150KW 120W S0H

£ 50N

120 1506 180 ;
CONTOUR INTERVAL = 1.0

1.1.7 AFCBIFAET ¥ v VAKBKESH (200m)

WINTER  PT ( 250 METER)
120 150 180 1S0W  120W  9OW
60N+ 60N

30N

“1S0E 180 1S0W  120W 90W
CONTQUR INTERVAL = 1.0 C

120E

H1.1.8 &AFBIIBITLET VY v VAKBKESA (250m)



SRMABMEE £25% 1989

WINTER PT ¢ 300 METER)
_ 120E 150€ 180 150K 120HW SOW

60N

30N

30S

603+

180 150W 120KW 90W
CONTOUR INTERVAL = 1.0 C

B 1.1.9 &FIBIIDBEF VY v VKIBKESA (300m)

WINTER PT ( 400 METER)
120E 150E 180 150K 120W 90N

TI120E  I1SOE 180 1S0W  120H  9OW
CONTOBUR INTERVAL = 1.0 C

H 1.1.10 &FI2BIFBEF v ¥ VKEBKESH (400m)



ASPENBA|RE $25% 1989

WINTER PT ( S00 METER)
150E 180 150KW 120HW 90K

60N

30N

£Q

305+

605+

120E 150E 180 1S0KW 120W 90NW
CONTOUR INTERVAL = 1.0 C

1.1.11 XZFICBITFLRF VI v VKEBKESH (500m)
WINTER PT ( 600 METER)
120E 150E 180 150W 120W 90N

60N

30N

EQ

305+

120E  150E 180 1S0W  120W  90OW
CONTGUR INTERVAL = 1.0 C

1.1.12 &F|IZBIIBRF v ¥ v VKEKESA (600m)



SETETHMEE  $255 1989

WINTER PT ( 800 METER)
120E 150E 180 150KW 120K 90W

120E 150E 180 150W 120W 90K
CONTOUR INTERVAL = 0.2 C

M 1.1.13 AFBIIBIIHET VY v VKEBEKFESA (800m)

WINTER PT (1000 METER)
120E 150E 180 150W 120W 90K

" 120E ' 1S0E 180 150U 120K 90M
CONTBUR INTERVAL = 0.2 C

K 1.1.14 AFIIBIIBEF VS v VABRKESH (1000m)



SEBMAFEMBE  H255 1989

WINTER PT (1200 METER)
t20E 1S0E 180 150W 120K SQaW

60N

‘ 30S

60S

120E 150E 180 150HW 120W S0W
CONTOUR INTERVAL = 0.2 C

B 1.1.15 &BIIBIFTBHRTF V3 % VKEKESA (1200m)

WINTER PT (1500 METER)
120E 150E 180 150NW 120W 90K

60N

§305

80S

T120E 1S0E 180 1%0W  1s0m 90

CONTBUR INTERVAL = 0.2 C

B 1.1.16 AFIIBIIBET ¥ ¥ v VAKEBKFESH (1500m)





